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1 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 4.91 61.21 | =S | 0.00 ~ 491 | 1.78 9.50 Thlst 1.00 | 5.00 ~ 5.21 61.21 | =hd4 | 5,00 ~ 521 1.78 9.50
2 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 6.61 83.35 | #hAst | 000 ~ 661 1.73 9.25 Thlst 1.00 | 5.00 ~ 7.93 83.35 | =hbLS | 5,00 ~ 793 1.73 9.25
3 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 7.00 88.82 | #nUs | 0.00 ~ 7.00| 1.76 9.41 Thlst 1.00 | 5.00 ~ 8.71 88.82 | =hbLs | 5,00 ~ 871 | 1.76 9.41
4 100kN/mM%#BZ % — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 6.81 86.17 | #nUS 000 ~ 681 1.75 9.37 Thlst 1.00 | 5.00 ~ 8.32 86.17 | =hbLs | 5,00 ~ 832 | 1.75 9.37
5 100kN/mM%#BZ 5 — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZD - ~ — — —
s 1.00 | 0.00 ~ 6.81 86.17 | #nUS 000 ~ 681 1.75 9.37 Thlst 1.00 | 5.00 ~ 8.32 86.17 | =hbLs | 5,00 ~ 832|1.75 9.37
6 100kN/mM%#BZ 5 — - ~ — — |3mZEEZD| — ~ — — — | 100kN/M%i#BZ % — - ~ — — |3mE#EZS - ~ — — —
s 1.00 | 0.00 ~ 7.03 89.22 | #hdst | 000 ~ 7.03| 1.89 10.14 st 1.00 | 5.00 ~ 9.16 89.22 | #hbLs | 5,00 ~ 9.16 | 1.89 10.14
” 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/Mi%#8% % — -~ — — |3mZEBZ S - ~ — — —
FhLst 1.00 | 0.00 ~ 7.03 89.22 | =nst 000 ~ 7.03)| 1.89 10.14 Fhst 1.00 | 5.00 ~ 9.16 89.22 | #hst | 5,00 ~ 9.16 | 1.89 10.14
P 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 5.67 70.90 | =S | 000 ~ 567 1.87 10.02 Fhst 1.00 | 5.00 ~ 6.55 70.90 | Fhst | 5,00 ~ 6.55| 1.87 10.02
9 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 5.67 70.89 | =S | 000 ~ 567 1.87 10.03 Fhst 1.00 | 5.00 ~ 6.55 70.89 | Fhust | 5,00 ~ 6.55| 1.87 10.03
10 100kN/MZ#8Z % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/Mi%Z#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 4.27 53.30 | =nst | 0.00 ~ 427 2.01 10.77 Fhst 1.00 | 5.00 ~ 5.06 53.30 | #hst | 5,00 ~ 5.06 | 2.01 10.77
11 100kN/MZ#8Z % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/Mi%Z#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 4.76 59.36 | TN 000 ~ 4.76 | 1.79 9.58 Fhst 1.00 | 5.00 ~ 5.03 59.36 | =hst | 5,00 ~ 503 | 1.79 9.58
19 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/mMi%#8% % — -~ — — |3mZEBZ S - ~ — — —
FhnLst 1.00 | 0.00 ~ 4.76 59.37 | =nS 000 ~ 4.76 | 1.79 9.58 Fhst 1.00 | 5.00 ~ 5.03 59.37 | #hst | 5,00 ~ 503 | 1.79 9.58
13 100kN/MZ#8 2 % — - ~ — — |3mZE#EZDH| — ~ — — — | 100kN/MiZ#8% % — -~ — — |3mZEBZ B - ~ — — —
FhnLst 1.00 | 0.00 ~ 3.86 48.46 | TN 000 ~ 386|212 11.36 Fhst 1.00 | 5.00 ~ 5.06 48.46 | Thst | 5,00 ~ 5.06 | 2.12 11.36
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